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( | )Yd Arab Republic of Egypt E Yy
Ministry of Education
3™ Year Preparatory Exam for Our Sons Abroad, 2019
Computer and Information Technology (Second Term) Time: 1 Hour
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Answer the following questions:
The First Question:
Put (v') in front of the correct statement, and put (¥) in front of the wrong one:

1 | It's possible to concatenate between (String Values) by using the symbol &. foe )

2 | It's possible to declare about a variable storage its name is Gender to store init | ( )
whether it is from a male or female by writing the following code:
Dim Gender As Boolean= “Male/Female™

3 | “QOuting” is dissemination of information about specific person or more
g

abusively.
4 |Itis a set of commands and instructions under a certain name when executing | ()
it return with a value is called (Sub).

5 | The statement (Do while ... loop) can be executed for unknown number of

iterations. ( )
6 | It’s possible to write the following code (Dim K As Integer) to declare a
stable numeric called K. |

7 | The phrase (Select .....Case) when branching depends on one variable value | (

| and there are many conditions
8 | The numeric value (Step) that follows (For....Next) could be positive or
negative. (-

The Second Question:

Choose the correct answer:

1- The command that's used in writing remarks that can be referred to within the code in
Visual. Basic. Net language. ;
(a) Rem (b) VbCrLf (¢) Comment

2- The result of executing the code :For N=1 to 3 step 0 : MsgBox(N) :Next is printing.......
(a) numbers from 1 to3  (b) number 1 continually (c) number 3 continually
3- When getting incorrect results after running the program it’s a proof that a fault happens
it's type is .....
(a) Syntax (b) Run —time (e¢) Logical
4- The result of executing a statement MsgBox(6Mod2) is.........
(@) 0 b)3 (c) 4
5- The conditional code (If ....... Then ...... Else) is written after.......
(a) If (b) Then (c) Else
6- Ignoring one person or more through the electronic media.
(a) Cyber stalking (b) Anonymity (¢) Exclusion

(Al Aadal) A ALuY) A8y
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The Third Question:

Complete with the suitable term:

 E_TORR—. one of Integer Numeric Types its minimum range is 0 and its maximum range is
2395,

D5l s expresses the current window (Form) when writing inside its code window.

. R LAY (L it's a command that’s used to declare constants in VB.Net language.

- ——— a word by it starts declafing the (Function) when creating it.

The Fourth Question:

Read the following codes then answer the questions:

1) Dim K As Byte =1

Dim M As Byte=3

K=K+2

If K <M then MsgBox(“Egypt”Else
MsgBox(“Cairo”)

(A) What is the result of the condition that ‘s used in the previous code
(True or False)..........

(B) After executing the code a message appears in it (Cairo or Egypt)?............

(2) Dim N, SUM As Integer
SUM=10

For N=1 to 3 step 2
SUM = SUM + N

Next

In this code, we have used the Variable N as the counter of iterative loop For....... Next
(A) The starting value of the counter or the iterative loop is......

(B) The end Value of the counter is .........

(C) The value of the increment of the counter is ...........

(D) The final value of the variable SUM after executing the code it becomes..........
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